


<Suspension items>
• Ft Cross Member Assy
• Rr Sub-frame Assy
• Support bar for Sub-frame
• Pillow Ball Bush for Ft Lower Arm Ft
• Pillow Ball Bush for Ft Lower Arm Rr
• Pillow Ball Bush for Ft Lower Arm Rr 11MY
• B/J for Ft Lower Arm
• Rr Lateral Link Assy Ft
• Rr Lateral Link Assy Rr
• Rr Trailing Link Assy 
• Pillow Ball Bush for Rr Lateral Link Ft
• Pillow Ball Bush for Rr Lateral Link Rr
• Pillow Ball Bush for Rr Trailing Link Ft
• Pillow Ball Bush for Rr Trailing Link Rr
• Pillow Ball Bush for Rr Upper Arm Ft
• Pillow Ball Bush for Rr Upper Arm Rr
• Top Mount for Ft Strut
• Top Mount for Rr Absorber
• Stabi Link Ft
• Stabi Link Rr
• Turret for Rr Absorber



Part name: Ft Cross Member Assy

Part number: 20100ZR000
� REINFORCED FRONT CROSS MEMBER : 1
� SUPPORT BAR : 1
� ADJUSTABLE WASHER : 4
� BOLT M8 : 2
� NUT M8 : 2
� CAP BOLT M10 : 2
� BOLT M10 : 6
� NUT M10 : 2 
� BOLT M12 : 4

� VR4-homologated Front Cross Member for Group R4
� High rigidity for adapting on tough/rough gravel
� Optimized pivot point
� Selectable pivot point on tarmac/gravel by adjustab le washer

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Support Bar CRM Ft

Part number: 20107ZR200
� SUPPORT BAR : 1

� Overhaul use for Ft Cross Member Assy (20100ZR000)

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Rr Sub-frame Assy

Part number: 20152ZR100
� REINFORCED REAR SUBFRAME : 1
� SUPPORT BAR LH/RH : 1 each
� BOLT M10 : 6  
� BOLT M14 : 4
� Washer M10 : 6
� Washer M14 : 4

� VR4-homologated Rear Sub-frame for Group R4
� Light weight and  high rigidity for adapting on tou gh/rough gravel
� Selectable pivot point on tarmac/gravel 
� Designed for easier to maintain at changing rear di fferential or driveshaft
� Designed for optimized and easier to mount rear diff erential guard
� Selectable each mounting point of Link

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Support bar for Sub-frame

Part number: R4201ZR000
� SUPPORT BAR LH/RH : 1

� This is repair part for Rr Sub-frame (20152ZR100)

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



� PILLOW BALL : 1 (2 per car)

Part name: Pillow Ball Bush for Ft Lower Arm Ft
Part number: 20204ZR100

� VR- homologated Pillow Ball Bush for Group R4
� Improve traction by low friction
� Realize longer life by special seal design

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



� PILLOW BALL : 1 (2 per car)

Part name: Pillow Ball Bush for Ft Lower Arm Rr
Part number: 20204ZR110

� VR4-homologated Pillow Ball Bush for Group R4
� Larger swing angle for adapting longer suspension s troke
� Improve traction by low friction
� Realize longer life by special seal design

<Remark>

This part is only for GRB (5 door).

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



� PILLOW BALL : 1 (2 per car)

Part name: Pillow Ball Bush for Ft Lower Arm Rr 11MY
Part number: 20204ZR030

�Larger swing angle for adapting longer suspension s troke
� Increased ball size against conventional VO part
�This item is homologated with Group N VO; able to u se for Group N cars 

<Remark>

This part is only for GVB (4 door)

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



� BALL JOINT : 1 (2 per car)
� SELF LOCK NUT M14 : 1 (2 per car)
� BOSS TRANSVERS LINK : 1 (2 per car)

Part name: B/J for Ft Lower Arm
Part number: 20206ZR100

� VR4-homologated Boll Joint for Group R4
� Improve reliability and durability of fastening sec tion by increased 

screw size
� Improve reliability on tough/rough gravel by increa sed boll size

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



� LINK ASSY Rr LATERAL LINK Ft : 1 (2 per car)

Part name: Rr Lateral Link Assy Ft
Part number: 20251ZR100

� VR4-homologated Rear Lateral Link Front for Group R 4
� Adjustable Link length design for R4
� Realize direct steer-feeling by adopt Pillow Ball Be aring
� Realize high rigidity and, improved road- contact pro perty and stabilized 

behavior of tyre on various kinds of roads
� Adopted optimized design and special steel for reali ze high strength and 

durability

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



� LINK ASSY Rr LATERAL Rr : 1 (2 per car)

Part name: Rr Lateral Link Assy Rr
Part number: 20251ZR110

� VR4-homologated Rear Lateral Link Rear for Group R4
� Adjustable alignment design for R4 by with length a djusting mechanism 
� Improve traction by longer suspension stroke
� Realize direct steer-feeling by adopt Pillow Ball Be aring
� Realize high rigidity and, improved road- contact pro perty and stabilized

behavior of tyre on various kinds of roads
� Adopted optimized design and special steel for reali ze high strength and  

durability
� More flexibility on suspension-tuning by revised mo unting point of damper

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Rr Trailing Link Assy
Part number: 20251ZR120

� LINK ASSY Rr TRAILING LINK : 1 (2 per car)

� VR4-homologated Rear Trailing Link Rear for Group R 4
� Adjusting toe control mechanism design for R4 
� Realize direct steer-feeling by adopt Pillow Ball Be aring
� Realize high rigidity and, improved road-contact pro perty and stabilized 

behavior of tyre on various kinds of roads
� Adopted optimized design and special steel for reali ze high strength and 

durability

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



� This is repair part for Rr Lateral Link Assy Ft (20 251ZR100)

� PILLOW BALL : 1 (2 per car)

Part name: Pillow Ball Bush for Rr Lateral Link Ft

Part number: 20253ZR100

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



� This is repair part for Rr Lateral Link Assy Rr (20 251ZR110)

� PILLOW BALL : 1 (2 per car)

Part name: Pillow Ball Bush for Rr Lateral Link Rr

Part number: 20253ZR110

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Pillow Ball Bush for Rr Trailing Link Ft

Part number: 20253ZR120

� This is repair part for Rr Trailing Link Assy (2025 1ZR120)

� PILLOW BALL with Spacer inner/outer : 1 (2 per car)

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Pillow Ball Bush for Rr Trailing Link Rr

Part number: 20253ZR130
� PILLOW BALL : 1 (2 per car)

� VR- homologated Pillow Ball Bush for Group R4
� Improve traction by low friction
� Realize longer life by special seal design
� This is also repair part for Rr Trailing Link Assy

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



� PILLOW BALL : 1 (2 per car)

Part name: Pillow Ball Bush for Rr Upper Arm Ft

Part number: 20253ZR140

� VR4-homologated Pillow Ball Bush Front for Rear Upp er Arm for Group R4
� Realize direct steer-feeling by adopt Pillow Ball Be aring
� Realize high rigidity and, improved road-contact pro perty and stabilized 

behavior of tyre on various kinds of roads
� High performance bearing; high strength and durabil ity
� Improve road-contact  property by low friction

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Pillow Ball Bush for Rr Upper Arm Rr

Part number: 20253ZR150
� PILLOW BALL : 1 (2 per car)

� VR4-homologated Pillow Ball Bush Front for Rear Upp er Arm for Group R4
� Realize direct steer-feeling by adopt Pillow Ball Be aring
� Realize high rigidity and, improved road-contact pro perty and stabilized 

behavior of tyre on various kinds of roads
� High performance bearing; high strength and durabil ity
� Improve road-contact  property by low friction

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



� TOP MOUNT : 1 (2 per car)

Part name: Top Mount for Ft Strut

Part number: 20320ZR110

� VR4-homologated Top Mount Front for Group R4
� Newly designed mounting section to damper 20mm uppe r side to Z direction 
� Extendable suspension stroke against Group N
� Keep high rigidity on tough/rough gravel 
� Adopted special material and realize light weight as  well as high strength 

and durability

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Top Mount for Rr Absorber

Part number: 20370ZR110
� TOP MOUNT : 1 (2 per car)

� VR4-homologated Top Mount Rear for Group R4
� Use with Rr Turret ; 52152ZR000
� Optimized mounting point specially for R4
� Extendable suspension stroke against Group N
� High rigidity for adapting on tough/rough gravel 
� Adopted special material and realize light weight as  well as high strength 

and durability

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Stabilizer Link Ft

Part number: 20470ZR100
� Ft STABILIZER : 1 (2 per car)
� NUT : 2 (4 per car)

� VR4-homologated Front Stabilizer Link for Group R4
� Adopted highly reliable Pillow Ball Joint on both e nds
� Optimally tunable by adjustable length depending on  suspension stroke 

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Stabilizer Link Rr

Part number: 20470ZR110
� Rr STABILIZER : 1 (2 per car)
� NUT : 2 (4 per car)

� VR4-homologated Front Stabilizer Link for Group R4
� Adopted highly reliable Pillow Ball Joint on both e nds
� Optimally tunable by adjustable length depending on  suspension stroke 

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Turret for Rr Absorber

Part number: 52152ZR000
� TURRET Rr : 2

� VR4-homologated Rear Turret for Group R4
� Body bracket for change mounting section of Rear To p Mount 40mm to 

Z direction
� Optimized mounting point specially for R4 
� Extendable suspension stroke against Group N
� Require body work for mounting, please refer to STI  provided instruction
� Use with Top Mount Rr; 20370ZR110

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



<Safety and Weight Saving items>
• Ft Door Windscreen Rh / Lh
• Ft Door Windscreen Rh / Lh (No slider kit)
• Ft Door Impact Foam Rh / Lh
• Ft Door Carbon Trim Rh / Lh
• Rr Door Windscreen Rh / Lh
• Rr Door Impact Foam Rh / Lh
• Rr Door Carbon Trim Rh / Lh
• Rr Gate Windscreen
• Rr Windscreen (GVB)
• Head Protection Foam Rh / Lh
• Ft Heated Womdscree 10MY
• Ft Heated Windscreen
• Rr Quarter Windscreen Rh / Lh
• Rr Quarter Windscreen Rh/Lh (GVB)
• Heater and Demister

<Others>
• Grill Hood Rh / Lh

• R4 Door Glass Holder Kit



� Ft DOOR WINDSCREEN Rh : 1  
� Ft DOOR WINDSCREEN Lh : 1 

Part name: Ft Door Windscreen Rh / Lh

Part number: 61011ZR000 / 61011ZR010

� VR- homologated and E-marked Windscreen for Group R4
� Made of hard coated light weight polycarbonate
� With a small sliding window
� Escapable in case of an emergency

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



� Ft DOOR WINDSCREEN Rh : 1  
� Ft DOOR WINDSCREEN Lh : 1 

Part name: Ft Door Windscreen Rh / Lh (No Slider Ki t)

Part number: 61011ZR020 / 61011ZR030

� VR- homologated and E-marked Windscreen for Group R4
� Made of hard coated light weight polycarbonate
� Escapable in case of an emergency

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Ft Door Impact Foam Rh / Lh

Part number: 61033ZR000 / 61033ZR010

� VR4-homologated Front Door foam for Group R4
� Meet for FIA 2011 safety regulations 

� Ft DOOR IMPACT FOAM Rh : 1 
� Ft DOOR IMPACT FOAM Lh : 1

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Ft Door Carbon Trim Rh / Lh

Part number: 61055ZR000 / 61055ZR010

� VR4-homologated Front Door Trim for Group R4
� Meet for FIA 2011 safety regulations
� 6 ply & 1.2mm thickness very light weight type

� Ft DOOR CARBON TRIM Rh : 1 
� Ft DOOR CARBON TRIM Lh : 1
� BELT HANDLE : 2 

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Rr Door Windscreen Rh / Lh

Part number: 62011ZR000 / 62011ZR010
� Rr DOOR WINDSCREEN Rh : 1  
� Rr DOOR WINDSCREEN Lh : 1 

� VR- homologated and E-marked Windscreen for Group R4
� Made of hard coated light weight polycarbonate

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Rr Door Impact Foam Rh / Lh

Part number: 62033ZR000 / 62033ZR010

� VR4-homologated Rear Door foam for Group R4
� Meet for FIA 2011 safety regulations 

� Rr DOOR IMPACT FOAM Rh : 1 
� Rr DOOR IMPACT FOAM Lh : 1

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Rr Door Carbon Trim Rh / Lh

Part number: 62055ZR000 / 62055ZR010

� VR4-homologated Rear Door Trim for Group R4
� Meet for FIA 2011 safety regulations
� 6ply & 1.2mm thickness very light weight type

� Rr DOOR CARBON TRIM Rh : 1 
� Rr DOOR CARBON TRIM Lh : 1 

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Rr Gate Windscreen

Part number: 63011ZR000
� Rr GATE WINDSCREEN : 1

� VR- homologated and E-marked Rear Windscreen for Gro up R4
� Made of hard coated light weight polycarbonate

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams

<Remark>

This part is only for GRB (5 door).



Part name: Head Protection Foam Rh / Lh

Part number: 64080ZR000 / 64080ZR010

� VR4-homologated Rear Door foam for Group R4
� Meet for FIA 2011 safety regulations 

� HEAD PROTECTION FOAM Rh : 1 
� HEAD PROTECTION FOAM Lh : 1

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



商品名：商品名：商品名：商品名： Ft Heated Windscreen 10MY

商品番号：商品番号：商品番号：商品番号： 65009ZR000
� Ft HEATED WINDSCREEN : 1 

ホモロゲーション情報に関しては、こちらをご参照ください。http://www.sti.jp/competitor/r4_homologation/

お問い合わせ先： SUBARU TECNICA INTERNATIONAL Inc. 

<Important> Please contact the company below for an y 
inquiries on this product from March 2013.  
Company name: Ricky Evans Motorsports(glass) Ltd.
Web ： http://www.heatedwindscreen.com/

<Remark>

This part is only for GRB Spec C (N5732).
� VR- homologated and E-marked Front Windscreen for Gr oup R4
� Heat-ray glass which prevents low visibility caused  by condensation in the 
front windscreen
� Laminating structure of two pieces



Part name: Ft Heated Windscreen

Part number: 65009ZR010
� Ft HEATED WINDSCREEN : 1 

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams

<Remark>

This part is only for GRB (N5714) and GVB (4 door).
� VR- homologated and E-marked Front Windscreen for Gr oup R4
� Heat-ray glass which prevents low visibility caused  by condensation in the 
front windscreen
� Laminating structure of two pieces

<Important> Please contact the company below for an y 
inquiries on this product from March 2013.  
Company name: Ricky Evans Motorsports(glass) Ltd.
Web ： http://www.heatedwindscreen.com/



Part name: Rr Windscreen (GVB)

Part number: 65109ZR000
� Rr WINDSCREEN : 1

� VR- homologated and E-marked Rear Windscreen for Gro up R4
� Made of hard coated light weight polycarbonate

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams

<Remark>

This part is only for GVB (4 door).



Part name: Rr Quarter Windscreen Rh / Lh

Part number: 65209ZR000 / 65209ZR010
� Rr QUARTER WINDSCREEN Rh : 1 
� Rr QUARTER WINDSCREEN Lh : 1

� VR- homologated and E-marked Rear Quarter Windscreen  for Group R4
� Made of hard coated light weight polycarbonate

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams

<Remark>

This part is only for GRB (5 door).



Part name: Rr Quarter Windscreen Rh / Lh (GVB)

Part number: 65209ZR020 / 65209ZR030
� Rr QUARTER WINDSCREEN Rh (GVB): 1 
� Rr QUARTER WINDSCREEN Lh (GVB): 1

� VR- homologated and E-marked Rear Quarter Windscreen  for Group R4
� Made of hard coated light weight polycarbonate

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams

<Remark>

This part is only for GVB (4 door).



Part name: Heater and Demister

Part number: 72110ZR000
� HEATER AND DEMISTER : 1

� VR4-homologated Heater System for Group R4
� Needed function selected simple design
� Realize significant reduction in size and weight
� Three steps adjustable blower

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: Grill Hood Rh / Lh

Part number: 90821ZR000 / 90821ZR010
� GRILL HOOD Rh : 1
� GRILL HOOD Lh : 1

� VR4-homologated Bonnet Grill for Group R4
� Improve cooling performance in engine room effectiv ely by aerodynamic

character
� Adopted a great heat resistant special plastic

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams



Part name: R4 Door Glass Holder Kit

Part number: R4006ZR000
� FLANGE NUT : 16
� GLASS HOLDER : 4

� RESIN BOLT : 16

� These parts are for fitting polycarbonate screens

No image

Information about FIA homologation: visit STI website http://www.sti.jp/e/competitor/r4_homologation/

Inquiry: contact STI Base Teams





Autotek Motorsport

DL Motorsport Parts Ltd.

HcLaBo Auto Service Co., Ltd.

JRM group Ltd.

Motor Image Enterprises Ltd. 

Stohl Racing GmbH

Symtech Racing bvba

Tommi Mäkinen Racing Oy Ltd.

Top Run Motorsport

Uspenskiy Rally Tecnica

http://www.autotekmotorsport.com/

http://www.subaruwrcspares.com/1.html 

http://www.hclabo.com/

https://www.jrm-group.com

/http://www.miracingteam.com/home/

http://www.stohl-racing.com/

http://www.symtechracing.com/

http://www.tommimakinen.com/

http://www.toprunracing.com/

http://www.urt.su/

STI Base Teams:

(alphabetical order)

• Autotek Motorsport

•DL Motorsport Parts Ltd.

•HcLaBo Auto Service Co., Ltd.

•JRM group Ltd.

• Motor Image Enterprises Ltd.

• Stohl Racing GmbH

• Symtech Racing bvba

• Tommi Mäkinen Racing Oy Ltd.

• Top Run Motorsport

• Uspenskiy Rally Tecnica

Base Team websites


